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Logical Reasoning Questions for CLAT Exam

CLAT Reasoning Quiz 24

Directions: Read the questions carefully and choose the right answer.

1. Select the related word from the given alternatives.
Air : Ubiquitous : : Fire: ?

A. Explosion B. Oxygen

C. Water D. Luminosity
2. Find the odd word from the given alternatives.
A. Building B. Goodwill
C. Machinery D. Furniture

3. Arrange the given words in a meaningful order and select the option indicating the
correct order.

1. Interview, 2. Screening, 3. Job application, 4. Selection, 5. Recruitment
A. 23145 B. 32145
C. 12345 D. 23145

4, Statements:
No tablet is an ipad
All ipads are laptops.

Conclusions:
I. All laptops being tablets is a possibility.
Il. Some ipads are definitely not tablets.

A. Only conclusion | follows B. Only conclusion Il follows
C. Either conclusion | or Il follows D. Both conclusions | and Il follows

5. Pointing to a photograph, Meeta said, "His grandfather’s only son is the only
brother of my mother." How the person in the photograph is related to Meeta?

A. Cousin Brother B. Uncle

C. Cousin Sister D. Aunt




6. Shilpa goes 10m towards north from Taj Mahal, then she turns to her right and
walks a distance of 5m, again she takes a right turn and walks 3m, then she turns to
her left and walks 4m and reaches Red Fort. Find in which direction is Taj Mahal from
Red Fort?

A. North-East B. North-West
C. West D. South-West

7. In a row of 40 children facing north, Keshav is standing 5th to the right of Mohan
who is 13th from the left end. What is the position of Keshav from the right end of the
row?

A. 21% B. 24
c.22™ D. 23"

8. Six friends A, B, C, D, E and F are standing in a row facing north in such a way that F
is standing third to the left of C. D is an immediate neighbour of F. B is standing fourth
to the right of D. A is standing to the left of E. What is the position of B with respect to
A?

A. Third to the left B. Third to the right

C. Second to the left D. Fourth to the right

9. Select the related letters from the given alternatives.
AU:EQ::EO:?

A.FJ B. IK

C.LN D.GN

10. Find the missing term of the given series from the given alternatives.
CFJO, EHLQ, ?, ILPU

A. HKMS B. GINS

C. GKMS D. GIMT
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Explanations:

1. Second one is the feature of the first one.
Air is present everywhere, so Ubiquitous is the feature of air.
Similarly fire is always radiant, thus luminosity is the feature of fire.

Hence option (D) is correct.

2. All other assets except option (B) Goodwill are tangible i.e. which can be
touched physically.

Whereas Goodwill is intangible and so the odd one out here.

Hence option (B) is correct.

3. The correct sequence is 32145.
First a job application is sent.
Then it is screened.
Then called for interview.
After interview selection takes place.
Post selection one gets recruited.

Hence option (B) is correct.

4. No tablet is an iPad (E) + All iPads are laptops (A) = E + A= O* = Some laptops are
not tablets. Hence the possibility in | does not exist.

Again,

No tablet is an iPad (E) - conversion - No iPad is a tablet (E) - implication -
Some iPads are not tablets. Hence Il follows.

Therefore, option (B) is correct.




{ }-»Siblings
+ -+ Male

+
Grand father — Female

l

{ Father Meeta's Mother }

} l

+
Person Meeta

photclnrggraph
As shown in the above blood relation tree, we can identify the person in
photograph as cousin brother of Meeta.
Note- Use of ‘his’ for the person in photograph identifies him as a male.

Hence option (A) is the correct answer.

As per the image shown below, it is clear that Taj Mahal is in South-West of Red
Fort.

Shilpa at
Red Fort

10m

Shilpa at
Taj Mahal

Hence option (D) is correct.

Keshav’s position from left end = Mohan’s position + 5
=13+5=18

Keshav’s position from right end = (Total children in the row — Keshav’s position
from left end) + 1

=(40-18)+1
=23
Thus Keshav’s position from right end of the row is 23",

Hence option (D) is the correct answer.




B is third to the right of A, as shown in the above image.

Hence option (B) is correct.

9 +4 +4
[ — 1
AU:EQ :: EO:IK
L L
-4 -4

Hence option (B) is correct.

10. +3 +5 +3 +5 3 +5 +3 45
rirri1 riri1 r1r1 [1r7

+

CFJO EHLQ GJNS TLPU
L] L] L] L
+4 +4 +4 +4

+2 +2 +2

The missing term as per the image shown above is GINS.

Hence option (B) is correct.
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